NTHU STAT 5550, 2013 Solution to Homework 3

1.
(a)
Design A Ff[E
1. FEIL 8 EE R, HAPAREMRTFREH 4/, FIfhEt 3 R Esdgih e -
FeleRiY 4 {6 H ME a5t error variance e
2. JHERFHAEMKAE, THEE(E curvature check o

Design B Filk
1. RIS HHE, LA RFEIRA-3E AT 5, et 4 (e E R T, 18
4 A5 —{ joint quadratic effect - FRIERITY 3 {idl H HHEE ATt error
variance °
2.  BHERTEME —/KHE, FTFI]H joint quadratic effect {F curvature check ©
3. Error variance {5512 H FAH/0EE, model ZEARAE constant variance HYEEY

filin T e vEHE -
(b)
HHRR— R AT T 4 (Ei0E, 47155817 day-to-day effect HIFSAERBIRIFR A —Rg /K

HEM] block factor, E: block size B 4-¥%f design AT, — (i block 1254k 1 1/ 22, #
{E 2 HE T block effect JAATEAATARLMEEAZ, HIIIA block effect N s 24 %]

HERGUERILETE - % design B 115, AEFTIZKALET linear MEs Bil 2fi's FY H &
SERKEIE 8 kT 2° By - F5ER—RT 2° I, B8 RAE 4 fErhul

®E Hi block effect £l 1,A,B,AB EFE A « A& block effect & E joint quadratic

effect FEAEJRIE ©
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o

(a)
S 2nd order model J[IA block effect : y~block+A+B+C+AB+BC+AC+A’+B*+C

STHRELE 11 {ARNE(10+44 7)Y correlation matrix 211

2

I LB C AE AC BC AZ Ez Cz  block
I 1.0000 00O 0O 0O 0O 0.6237 D0.6237 0.6256[-0.2000]
i 0.0000 100 O O 0O 0.0000 O0.0000 O.0000 O.0000
E 0.0000 010 0O O 0O 0.0000 0.0000 O0.0000 O.0000
C 0.0000 001 0O O 0 0.0000 0.0000 O.0000 O.0000
LE 0.0000 000 1 0 0 0.0000 0.0000 O0.0000 O.0000
AC 0.0000 000 O 1 0 0.0000 0.0000 O0.0000 O.0000
EC 0.0000 000 0O O 1 0.0000 0.0000 O.0000 O.0000
Az 0.6237 000 0O O 0O 1.0000 0.3343 0.3369|-0.1077
Ez D.6237 000 0O 0O 0O 0.3343 1.0000 0.3369 |-0.1077
cz 0.6256 000 0O O 0O 0.3369 0.3369 1.0000 |-0.1116
block -0.2000 0 0 0 O O 0O -0.1077 -0.1077 -0.1116 1.0000

R A ARSE 2 orthogonal blocking, &% block effect B IF DL A,B,C F 23K
JfEF5 partial confounding °

(b)
RFER 7 i S e R BRI L 0 (a) AU A

Coefficients:

Estimate 3td. Error t walue Friix|t]|]
[Intercept) 2.195759 0.620263 3.545 0.007565 **
block 0.049523 0.363261 0.136 0.594929
i 1.126643 0.454455 Z2.479 0.0381a5 *
B 0.785710 0.454455 1.729 0,122085
C O.001e32 0.455500 o.004 0.997232
bz 2.708204 0.403642 6.709 0.,000151 **+*
B2 -0.052744 0.403642 -0.131 0.599262
C2 -0.13518%6 0.407586 -0.332 0.745657
LB 1.450952 0.6338a7 2.336 0.047712 *
A:C -0.,177548 0.633867 -0.280 0.736538
E:C 0.155545 0.633987 0.z97 0,.773730

3ignif. codes: 0 ***%¢ Q0,001 **+*f Q0.01 ** 0.05 *.7 0.1 * 7 1

Fesidual standard error: 1.502 on 8§ degrees of freedom
Hultiple R-=zquared: 0.3941, Adjusted F-sgquared: 0.7el?
F-ztatistic: 6.753 on 10 and & DF, p-wvalus: 0.006195

H RN SE RS A A% AB, TEE SN 5% A B B, HLrp DL A SR, B

R B R SHE AT B B A8 A RSB HEAT - B LB B A EI%CET’EH%
{ERCEE N JEAH - block effect NF#HZE, Ko day-to-day effect o /34T GmEL R A
SIRT—E
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6.
(a)

$IIE 2° design FUBEEE y~xo+xotxoxo ATF
Call:
lmiformla = ¥ ~ ®x1 + X2 + x1:xZ2)

Fesiduals:
ALL 4 residuals are 0: no residual degrees of freedom!

Coefficients:
Eztimate 3td. Error t walue Pri(>|t]|]

[Intercept) 31.5 i Ni Ni
x1 6.5 L L L
x2 5.0 M L L
x1l:x2 1.0 ML L L

Fezidual standard error: NalW on 0 degrees of freedom
Multiple E-=sdquared: 1, Ldjusted FE-sdquared:
F-ztatistic: Nall on 3 and O DF, p—value: NL

ME of 1 % 6.5, ME of 2 £ 5.0, 2fi’s /% 1.0, the steepest ascent direction £
(6.5,5.0)=(1,0.769), BJI x, ¥&H11 1 EA{7IEF x, @11 0.769 EEf\ - Table 10.14

Run X1 X2 Bleach Temp y
1 1.0 0.769 6 83.846 43
2 1.5 1.5*0.769=1.153 7 85.769 47
3 2.0 2.0*0.769=1.538 8 87.692 49
4 2.5 2.5*%0.769=1.923 9 89.615 54
5 3.0 3.0*0.769=2.307 10 91.538 59
6 3.5 3.5*0.769=2.692 11 93.461 66
7 4.0 4.0*0.769=3.076 12 95.384 70
8 4.5 4.5*0.769=3.461 13 97.307 73
9 5.0 5.0%0.769=3.846 14 99.230 69
10 5.5 5.5*0.769=4.230 15 101.153 61

B1%< Run 1 21 Run 10 R]#EIH Run 8 14 y=73 £338 10 {5 EH i AM, H Run 9 B
By R, MY Run 8 B N — K E BRI LB -
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(b)
BUSERETE y~xg+XotXaXot X o+x 2 QT

Coefficients:
Esztimate 3td. Error

L wvalue Prix|t]|]

(Intercept) 90,0009 2.3897 37.662 4.1Ze-05 ***
xl -1.z2804 0.5442 -1.515 o.227
xd -1.2374 0.5449 -1.465 0.239
I(=1"2) -3.1262 1.4013 -Z.231 0.11:2
I(=2"2) -0.1253 1.4013 -0.0389 0.934
xl:ims -0. 5000 1.1945 -0.4185 0.704
Signif., ocodes: 0O Y+**7 0.001 ***° 0.01 Y% 0.05 *.°

Fezidual standard error: 2.39 on 3 degrees of freedom

Multiple BF-=dquared: 0.307%3, Ldjusted R-squared:
F-ztatistic: 2.513 on 5 and 3 DF, p-valus: 0.2359:2
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12.

(a)

It 75— Box-Behnken design, EWEmI{EKT-HIFEHL—7 2° design, HERKTILE
RFE Forh OB « 2k C(4,2)*4=24 (%, FEhnL 3 A LEEP K 27 BEEY design <
JA—1l 4 [RI19 2nd model HFFEE 15 i H AR A], #lbrE 2 27-15=12 {5
FIEE © Z5PRH CCD HjEf run size [BR{RA] 17, MBHARTE -

(b)
%} Cr Pt 2nd order model 41| -

Coefficients:

Eztimate Std. Error t walue Friix|t]]
[ Intercept) 0.2133333 0.0415359 S5.099 0.000zgz2 %=«
A -0.0045533 0.0209179 -0.219 0.330247
B -0.00741s87 0.,0209179 -0.355 0.729072
i -0.00016867 0.0209179 0,008 0,.993774
D -0.0026660%7 0.0209179 -0.127 0.200670
I(4%2) -0.0514167 0.0313769 -1.639 0,.127215
I(E"2) -0.0521667  0.0313769 -—-1.8586 0.083773
IicH2) -0.0520417 0.0313769 -1.582 0.054351
Iip~2) 0.0477083 0.0313769 1.520 0,154250
L:B -0.0077500 0,.0362309 -0.214 0.834212
A:cC -0.0070000 0.0362309 -0.,193 0.350030
A:D 0.00z5000 0.0382309 0.062 0.946125
B:C 0.0100000 0.0362309 0.276 0.787238
E:D 0.0670000 0.0362309 1.549 0.052195
c:D 0.0175000 0.0382309 0.4583 0.637779

Adignif. codes: 0 ***%7 0.001 *+ Q.01 7 O0.05 *.7 0.1 * 7 1

Fezidual standard error: 0.07246 on 12 degrees of freedom
Multiple B-sdquared: 0.6049, Ldjusted R-squared: 0.144
F-ztatistic: 1.312 on 14 and 12 DF, p-—ralue: 0.3219

I fitted model R*=0.60 A XEMAEEE, H nlfee ERNFAE A S B
AN K« 225317 T canonical analysis, H] 5 stationary point Eil eigenvalues [ | :

> eigen(B) $values# eigenvalues
[1] 0.03285375 -0.04e72827 -0.065046530 -0.029299535
= —0.5%solve (B) % *%3h# stationary point
[-1]
[1,] -0.04298792
[2,] -0.01011839
[3,] 0.01365054
[4,] 0.03940299

A eigenvalues 5 1FA &, i statinary point 5— saddle point ©
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¥f Al i3 2nd order model 21T :

Coefficients:
Eztimate 3td. Error t wvalus Pri(=|t]])
| Intercept) 0.003700 0.031733 0.117%7 0.2091

A -0.001967 0.015568 -0.124 0.9054
B -0.007%375 0.015866 -0.4a65 0.&6504
i -0.0Z654E 0.0158686 -1.873 0.1Z02
D 0.0241a87% 0.0153366 1.523 0.1536
I(L~2) -0.005457 O.0z3500 -0.230 0.58222
I(E~2) -0.005304 0.023800 -0.244 0.5114
I(C~2) 0.0353121 0.023300 1.476 0.1655
I(D"Z2) 0.017533 O.0z3300 o.7av 0.4755
A:B -0.010325 0.0274532 -0.394 0. 7006
A 0.001150 0.0z27432 0.04: 0.9a673
L:D 0.0000z5 0.027432 0.001 0.9993
B:C 0.003775 0.027452 0.137 0.5930
E:D -0.001725 O.0z7432 -0.0a3 0.9510
Z:D -0.073300 0.027432 —-Z.635 o.o19s «

Aignif. codes: 0 ***%f 0.001 *** 0,01 **f O0.05 *.7 0.1 * 7 1

Feszsidual standard error: 0.054968 on 12 degrees of freedom
Multiple E-=quared: 0.575, Ldju=sted R-squared: 0.0791:2
F-statistic: 1.16 on 14 and 12 DF, p—ralue: 0.4023

It fitted model R2=0.58 H AL T-H N EIEE, A e A EEN T ARAEANEH
i (RN o B30 T canonical analysis, FJf5: statinary point il eigenvalues
arey e

> eigen(B) $values# eigenvalues
[1] 0.100795%722  0.0051425879 -0.01604953023 -0.045306002434
> —0.5%solve (B)%¥*%%h# stationary point
[-1]
[1,] -0.3210613
[z,] 0.0852527
[3,] 0.1338932
[4,] -0.1167451

FHFA eigenvalues 5 1E45 &1, L statinary point £5— saddle point °
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(c)

Contour plot

Response: Cr

{iE(A,B,C,D) TR AT xo, %, WBKIFELLUT model 1 R® f A2 FlE] -
YV ™ Xi+XoHX1 X2 HX1Xo

B x,=B,x,=D [}, R?*=0.43 & 6 flifH-& 1R K  Contour plot [ :

Contour Plok
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(B,D)=(1,0)IFf AJ #5552/ )N\ Cr £ 0.1007257, HHERE HEE -

Response: Al
{iE(A,B,C,D) LRI T x1, %2, AP model ot R* i AIZR{EE] -

\ ~ X1+X2+X12+X22+X1X2
B x1=C,x,=D [f, R*=0.55 5 6 flis-& i A « Contour plot Z[|F :

Contour Plot
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Desirability function
AT desirability function
d; = exp{~lyi|*},
d= (d1d2)0'5
(A,B,C,D)=(-1,1,0,-1) ~ (0,1,0,-1) ~ (1,1,0,-1)IfF, desirability=0.9949328, #{HLi5E =
{EFZE -
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